EAST POINT SCHOOL
CLASS-9™ BIOLOGY

Chp- Tissue

Extra short questions
Q1: Name the chemical released by cork cells?

Answer: Suberin which makes them impervious to gases and water.

Q2: How are complex tissues different from simple tissues?

Answer: Complex tissues are made up of more than one type of cells. but simple tissue are made of one
type of cell .

Q3: Name two types of complex tissues.

Answer: Xylem and Phloem

Q4: Why are Xylem and Phloem are called vascular or conducting tissues?

Answer: Since both xylem and phloem tissues transport materials, they are together called vascular
tissues.

Q5: Which plant tissue is considered to have played an important role in the survival of terrestrial
plants?

Answer: Vascular tissue i.e. xylem and phloem.

Q6: Why vascular tissue is considered a distinctive feature responsible for the survival of plants
in terrestrial plants?

Answer: Fossils of plants show that vascular tissue appears 400 million years ago. It is believed that
aquatic plants moved to terrestrial environment and adaptations like vascular tissue, protected seeds,
true roots formation etc. helped in their survival.

1.  Vascular tissues transport water and minerals throughout a plant. because of this
adaptation, water absorbed by roots is able to reach to different parts of the plant. Thus water
balance is maintained properly inside plant body. Similarly, food prepared by leaves by
photosynthesis is transported to all parts of the plants.

2. Vascular tissue also provides structural support to the plant. Vascular tissues form a sort
of skeleton and provide support to root, stem and leaves. It also enables the plant to grow
upright i.e. become taller.

Q7: Is xylem (or phloem) homogenous tissue or heterogeneous tissue?

Answer: Xylem and phloem both are heterogeneous tissue and are made up of different type of cellular



elements.

Q8: List the cellular elements of xylem tissue?

Answer: Four types:
1. Xylem tracheid’s

2. Xylem tracheae or vessels
3. Xylem fibres and
4.  Xylem parenchyma

Q9: What is the role of xylem tissue?
Answer: Xylem tissues are specialized for the conduction of water and mineral substances in the plant
body.

1. Tracheid’s and vessels form tubular structures to transport water and minerals vertically
(unidirectional).

2. Xylem parenchyma stores food and helps in the sideways conduction of water.
3. Fibres are mainly supportive in function.

Q10: Name the cellular elements of Phloem tissue.

Answer: Four types:
1. Sieve tubes

2. Companion cells
3.  Phloem parenchyma and
4.  Phloem fibres

Q11: List functions of phloem tissue?

Answer:
1. Phloem transport food in both directions.

2. Sieve tubes and companion cells are involved in translocation of organic substances.
3.  Phloem parenchyma and phloem fibres play supporting role in the transportation process.

Q12: Which Phloem cellular element has a tubular structure with perforated walls?
Answer: Sieve tubes
Q13: Why are Xylem and Phloem known as conducting tissues?

Answer: Because both of them help in the conduction of water, mineral and food.

Q14: Why are Xylem and Phloem called as vascular tissues?

Answer: Because they together constitute vascular bundle in plants.

Q15: Why are Xylem and Phloem known as complex permanent tissues?
Answer: Because both of them are made of more than one type of cells (heterogeneous).

Q16: Why do meristematic cells lack vacuoles?



Answer: The purpose of vacuole is to store food and waste product. Since meristems are young cells and
are actively dividing, they do not participate actively in food preparation. Neither they produce large waste

and hence lack vacuoles.
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vibEO LINK:-https://youtu.be/vlc6dhba0Sw



https://youtu.be/vJc6dhba0Sw

East point school
Week 9 chapter 2
Class 9
chem

The components of a heterogeneous mixture can be separated by
» simple methods like-
hand picking , sieving , & Winnowing
»  special techniques like-
i) Evaporation : a mixture of salt and water or sugar andwater.
ii) Centrifugation : Butter from curd, Fine mud particles suspended inwater.
iii) Decantation (Using separating funnel) : Oil fromwater.
iv) Sublimation : Camphor fromsalt,
v) Chromatography : Different pigments from an extract of flowerpetals.
vi) Distillation and fractional distillation : Separating components ofPetroleum

viii) Magnetic separation: Iron pins from sand.

Answer the following
Q.1 Name the process you would use to:
i) recover sugar from an aqueous sugarsolution.
i) separate mixture of salt solution andsand.
Q.2 How will you separate a mixture of sand , water and mustard oil?

VIDEO LINK: https://youtu.be/ZNNnMSXEGTJk



https://youtu.be/ZNnMSxEGTJk
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Unemployment

Unemployment is said to exist when people who are willing to work at the going wages cannot

find jobs.The workforce population includes people from 15 years to 59 years.
In case of India we have unemployment in rural and urban areas.

In case of rural areas, there is seasonal and disguised unemployment.
Urban areas have mostly educated unemployment.

Seasonal unemployment happens when people are not able to find jobs during some months of

the year. People dependents upon agriculture usually face such kind of problem.

There are certain busy seasons when sowing, harvesting, weeding and threshing is done. Certain

months do not provide much work to the people dependent on agriculture.

In case of disguised unemployment people appear to be employed. They have agricultural plot
where they find work.This usually happens among family members engaged in agricultural

activity.

The work requires the service of five people but engages eight people. Three people are extra.

These three people also work in the same plot as the others.

The contribution made by the three extra people does not add to the contribution made by the

five people.

If three people are removed the productivity of the field will not decline. The field requires the

service of five people and the three extra people are disguised unemployed.

In case of urban areas educated unemployment has become a common phenomenon. Many

youth with matriculation, graduation and post-graduation degrees are not able to find job.

A study showed that unemployment of graduate and post-graduate has increased faster than

among matriculates.

A paradoxical manpower situation is witnessed as surplus of manpower in certain categories

coexist with shortage of manpower in others.

There is unemployment among technically qualified person on one hand, while there is a dearth

of technical skills required for economic growth.




Subject:-Social Science (Economics)

Chapter2:- People as Resource

Class:- IX

Assignment No.:-3

1)
2)
3)
4)
S)
6)
7)
8)

How will you explain the term unemployment?

In which sector disguised unemployment is mostly found?
State the two types of unemployment exits in rural India.
Which type of unemployment generally exits in urban areas.
Define educated unemployment.

Explain the term “Paradoxical manpower situation”.

Mention one of the major causes of unemployment of in India.

What is the difference between disguised unemployment and seasonal unemployment?

Video Link

https://www.youtube.com/watch?v=uPJV HiY0TM

https://www.youtube.com/watch?v=N8A-ipunSP4

https://youtu.be/uCisz4yL 9Ms

https://youtu.be/MgJOO maiMU

https://www.youtube.com/watch?v=P9CGuzZ8 ek

https://www.youtube.com/watch?v= rcEI6bc38I

https://www.youtube.com/watch?v=P9CGuzZ8 ek

https://www.youtube.com/watch?v= rcEI6bc38I

https://www.youtube.com/watch?v=rpm7vSTFdkc

https://www.youtube.com/watch?v=GrcRY1GzFDI

(1)
(1)
(1)
(1)
(1)
(1)
(1)
(3)



https://www.youtube.com/watch?v=uPJV_HiY0TM
https://www.youtube.com/watch?v=N8A-ipunSP4
https://youtu.be/uCisz4yL9Ms
https://youtu.be/MgJ0O_maiMU
https://www.youtube.com/watch?v=P9CGuzZ8_ek
https://www.youtube.com/watch?v=_rcEI6bc38I
https://www.youtube.com/watch?v=P9CGuzZ8_ek
https://www.youtube.com/watch?v=_rcEI6bc38I
https://www.youtube.com/watch?v=rpm7vSTFdkc
https://www.youtube.com/watch?v=GrcRY1GzFDI

COMPREHENSION & GRAMMAR

l. In our families there are the heads; some of them are successful, others are not.
Why? We complain of others in our failures. The moment | am unsuccessful, |
say, so-and-so is the cause of the failure. In failures, one does not like to confess
one’s own faults and weaknesses. Each person tries to hold himself faultless and
lay the blame upon somebody or something else, or even on bad luck. When
heads of families fail, they should ask themselves, why it is that some persons
manage a family so well and others do not. Then, you will find that the difference
is owing to the man—his presence, his personality.

. Coming to great leaders of mankind, we always find, that it was the personality
of the man that counted. Now, take all the great authors of the past, the great
thinkers. Really speaking, how many thoughts have they thought? Take all the
writings that have been left to us by the past leaders of mankind; take each one of
their books and appraise them. The real thoughts-new and genuine that have been
thought in this world up to this time, amount to only a handful. Read in their
books the thoughts they have left to us. The authors do not appear to be giants to
us, and yet we know that they were great giants in their days. What made them
s0? Not simply the thoughts they thought, neither the books they wrote, nor the
speeches they made—it was something else that is now gone, that is their
personality.

. As | have already remarked, the personality of the man is two-thirds, and his
intellect, his words, are but one-third. It is the real man, the personality of the
man, that runs through us. Our actions are but effects; actions must come when
the man is there; the effect is bound to follow the cause. The ideal of all
education, all training, should be this man-making. But, instead of that, we are
always trying to polish up the outside. What is in polishing up the outside when
there is no inside? The end and aim of all training is to make the man grow. The
man who influences, who throws his magic, as it were, upon his fellow-beings, is
a dynamo of power, and when that man is ready, he can do anything and
everything he likes; that personality put upon anything will make it work.

1. Now answer these questions.

1.1 Complete the statement.

a. In failures we don’t

1.2 Answer these questions.

a. What should the head of the family ask himself?

b. What made the authors appear famous?

c. Why is personality most important?

1.3 Find words which mean the same.

a. admit(paral) b. perfect(para 3)

2. In the passage given below, some words are missing. Choose the correct word from the
given options to complete the passage meaningfully.

The first test tube baby turtle (a) born last month in California. The story began (b)
a broken turtle egg (c) on the seashore. Scientists (d) to
work carefully bringing it up



(i) was born (i) were born (iii) is born (iv) are born

(b) (i) where (ii) which (iii) when (iv) who
(c) (i) is find  (ii) was found (iii) are finding (iv) found
(d) (1) get (i) are getting (iii) gets (iv) have got

3. Inthe passage given below, some words are missing. Choose the correct word from the
given optiobns to complete the passage meaningfully.

Napoleon Bonaparte, the son of a) Italian nobleman, was born b)

the island of Corsica in 1769. He joined the French army and by the time he c) twenty
six, he d) a general.

a) i)the ii) some iii) an iv) a

b) 1)in i) at iii) by iv) on

c) i)is ii) were iii) was iv) will have

d) i) had become i) became iii) has become iv) is becoming

RAIN ON THE ROOF EXTRA QUESTIONS

A. When the humid shadows hover
Over all the starry spheres
And the melancholy darkness
Gently weeps in rainy tears,
What a bliss to press the pillow
Of a cottage-chamber bed
And lie listening to the patter
Of the soft rain overhead!
1. What cries in rainy tears?
2. What is blissful for the poet?
3. What does the poet listen to?
4. ldentify the poetic device.

B. Every tinkle on the shingles
Has an echo in the heart;

And a thousand dreamy fancies
Into busy being start,

And a thousand recollections
Weave their air-threads into woof,
As | listen to the patter

Of the rain upon the roof.

1. What echoes in the heart?
2. What gets started?

3. ldentify the poetic device.

C. Now in memory comes my mother,



hrwpE

As she used in years agone,

To regard the darling dreamers
Ere she left them till the dawn:

O! | feel her fond look on me

As | list to this refrain

Which is played upon the shingles
By the patter of the rain.

What does the poet remember?
Why would she come to the poet?
What does the poet particularly remember?
Identify the poetic device.



East point school

Class IX-Geoghaphy

Assignment (Rivision)

Chapter 2 : Physical features of India.

Very Short Questions :-

1.
2.

o v & W

8.
9.

Which is the highest peak in India.

In which division of the Himalayas are the famous valleys of
Kashmir, Kangra and kullu located?

Which continents of today were part of the gondwana land ?
The Earth has been formed out of how many plates ?

What do you mean by Gondwana land ?

Collision of which two plates led to the formation of fold
mountains in the Tethys sea ?

Which sea existed in place of the Himalayas in the ancient period
?

Which Plateau lies between the Aravali & the Vindhyan ranges.
What Is meant by Doab.

10.Name the part of the Himalayas lying between the Indus & satluj

River.

11.Name the mountain range which bounds central highland on the

North west.

12.Which river marks the eastern most boundary of the Himalayas.



Long Answer Questions.

1. Distinguish between Eastern ghats & Western ghats.

2. What are Duns ? Differentiate between the inner Himalayas & the
Himalayas.

3. Write a short note on the central highland.

4. Name the Southern most range of Himalaya.Mention any three

features of this range.
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HISTORY
YOU TUBE LINK;-

https://www.youtube.com/watch?v=L1awF5IBT4c

https://edurev.in/studytube/The-Abolition-Of-Slavery-The-French-
Revolution--CB/12aba3cd-4d7b-4b17-ab36-1fbd66b51d39 v

The Abolition of Slavery

Jacobin regime’s most revolutionary social reform was the abolition of slavery in the French
colonies. In the seventeenth century, slavery trade began. Slaves were brought from local
chieftains, branded and shackled and were packed tightly into ships for the three-month-long
voyage across the Atlantic to the Caribbean. Slave labour met the growing demand in European
markets for sugar, coffee, and indigo. Throughout the eighteenth century, there was little criticism
of slavery in France. In 1794, the Convention legislated to free all slaves in the French overseas
possessions. Napoleon introduced slavery after ten years. In 1848, slavery was abolished in
French colonies.
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Depiction of the classical model of the triangular trade
ACTIVITY:-
MAP WORK;-

Mark Triangular Slave Trade on world political map.


https://www.youtube.com/watch?v=L1awF5IBT4c
https://edurev.in/studytube/The-Abolition-Of-Slavery-The-French-Revolution--CB/12aba3cd-4d7b-4b17-ab36-1fbd66b51d39_v
https://edurev.in/studytube/The-Abolition-Of-Slavery-The-French-Revolution--CB/12aba3cd-4d7b-4b17-ab36-1fbd66b51d39_v
https://en.wikipedia.org/wiki/Triangular_trade#p-search
https://en.wikipedia.org/wiki/File:Triangle_trade2.png

EAST POINT SCHOOL

MATHEMATICS ASSIGNMENT

(1) Algebraic Expressions : Any expression containing constants, variables, and the
operations like addition, subtraction, etc. is called as an algebraic expression.
For example: 5x, 2x — 3, x? + 1, etc. are some algebraic expressions.

(2) Polynomials : The expression which contains one or more terms with non-zero
coefficient is called a polynomial. A polynomial can have any number of terms.
For example: 10,a+b, 7x +y +5, w + X + y + z, etc. are some polynomials.

(3) Polynomials in One Variable : The expression which contains only one type of
variable in entire expression is called a polynomial in one variable.
For example: 2x, a> + 2a + 5, etc. are polynomials in one variable.

(4) Term : A term is either a single number or variable and it can be combination of
numbers and variable. They are usually separated by different operators like +, -, etc.
For example: Consider an expression 6x - 7. Then, the terms in this expression are 6x and -7.

(5) Coefficient : The number multiplied to variable is called as coefficient.
For example: The coefficient of the term 2x will be 2.

(6) Constant Polynomials : An expression consisting of only constants is called as
constant polynomial.
For Example: 7, -27, 3, etc. are some constant polynomials.

(7) Zero Polynomial : The constant polynomial 0 is called as zero polynomial.

(8) Denoting Polynomials in One Variable:
Let us take an example to understand it:



If the variable in a polynomial is x, then we can denote the polynomial by p(x) or gq(x) etc.
For example: p(x) = 7x>+ 7x + 7, t(r) =r* + 2r + 1, etc.

(9) Monomials : The expressions which have only one term are called as monomials.
For Example: p(x) = 3x, q(a) = 2a?, etc. are some monomials.

(10) Binomials : The expressions which have two terms are called as binomials.
For example: r(x) = x + 10, ¢(z) = 722+ z etc. are some binomials.

(11) Trinomials : The expressions which have three terms are called as trinomials.
For example: p(x) = 7x* + x + 7, d(t) = t — 3t + 4, etc. are some trinomials.

(12) Degree of polynomial : The highest power of the variable in a polynomial is called
as the degree of the polynomial.

For Example: The degree of p(x) = x> —x®+ 7 is 5.

Note: The degree of a non-zero constant polynomial is zero.

(13) Linear polynomial : A polynomial of degree one is called a linear polynomial.
For Example: 2x — 7, s + 5, etc. are some linear polynomials.

(14) Quadratic polynomial : A polynomial having highest degree of two is called a
guadratic polynomial. In general, a quadratic polynomial can be expressed in the form
ax? + bx + ¢, where a#0 and a, b, ¢ are constants.

For Example: x>- 9, a> + 7, etc. are some quadratic polynomials.

(15) Cubic polynomial : A polynomial having highest degree of three is called a cubic
polynomial. In general, a quadratic polynomial can be expressed in the form ax® + bx? + cx
+ d, where a#0 and a, b, ¢, d are constants.

For Example: x>~ 9x +2, a® + a2 + a + 7, etc. are some cubic polynomials.



(16) General expression of polynomial : A polynomial in one variable x of degree n
can be expressed as a, X"+ a1 X"+ ..... + a1 X + &, where a, # 0 and a,, a,, .... a,are constants.

(17) Zeroes of a Polynomial : The value of variable for which the polynomial becomes
zero is called as the zeroes of the polynomial.

For Example: Consider p(x) = x + 2. Find zeroes of this polynomial.

(i) If we put x = -2 in p(x), we get,

(i)p(-2)=-2+2=0.

(iii) Thus, -2 is a zero of the polynomial p(x).

(18) Some Note-worthy Points:

(i) A non-zero constant polynomial has no zero.

(ii) A linear polynomial has one and only one zero.

(iii) A zero of a polynomial might not be 0 or 0 might be a zero of a polynomial.
(iv) A polynomial can have more than one zero.

(19) Some Examples:

For Example: Find value of polynomial 3a2+5a + 1 ata = 3.
(i) Here, p(a) = 3a> + 5a + 1.

(if) Now, substituting a = 3, we get,
(ii)p(3)=3x(3)?+5x3+1=27+15+1=43

For Example: Check whether at x = -1/7 is zero of the polynomial p(x) = 7x + 1.
(i) Given, p(x) = 7x + 1.

(if) Now, substituting x = -1/7, we get,

(i) p(-2/7) =7(-U/7) +1=-1+1=0.

(iv) Here, p(-1/7) is zero. Thus, -1/7 is zero of the given polynomial.

For Example: Find zero of the polynomial p(x) = 2x+ 2.
(i) Equating p(x) to zero, we get,

(i) p(x) =0

(ii)2x+2=0

(iv) 2x=-21i.e.x=-1

(V) Thus, x = -1 is a zero of the given polynomial.

(20) Remainder Theorem:
Statement: Let p(x) be any polynomial of degree greater than or equal to one and let a be
any real number. If p(x) is divided by the linear polynomial x — a, then the remainder is



p(a).

Proof :

(i) Let p(x) be any polynomial with degree greater than or equal to 1. Suppose that when p(x) is
divided by x — a, the quotient is g(x) and the remainder is r(x), i.e., p(x) = (X — a) q(x) + r(x)
(i) Since the degree of (x —a) is 1 and the degree of r(x) is less than the degree of (x —a), the
degree of r(x) = 0. This means that r(x) is a constant, say r.

(iii) So, for every value of x, r(x) =r.

(iii) Therefore, p(x) = (x —a) q(x) +r

(iv) In particular, if x = a, this equation gives us

(v) p(@) = (a—a) q(a) + r =r, which proves the theorem.

In other words, If p(x) and g(x) are two polynomials such that degree of p(x) > degree of g(x)
and g(x)#0, then there exists two polynomials q(x) and r(x) such that p(x) = g(x)q(x) + r(x),
where, g(X) represents the quotient and r(x) represents remainder when p(x) is divided by g(x).

For Example: Divide 3x? + x— 1 by x + 1.
(i) Let, p(x) =3x*+x—1and g(x) = x + 1.

Jx=-2

x+1) 3241
Ixt + 3x

-2x-1

—2x=-2
+ +

1
(ii) Performing divisions on these polynomials, we get, (iii) Now, we
can re-write p(x) as 3x2 +x—1=(x + 1) (3x -2) +1.



For Example: Find remainder on dividing x® + 3x2 + 3x + 1 by 2x + 5.
©.x. 9
+— 4
2 4 8

2x+5) X' +3x° +3x+1

Thus, remainder obtained on dividing x* + 3x2+ 3x + 1 by 2x + 5
is -27/8.

(21) Factorisation of Polynomials:

(i) Factor Theorem: If p(x) is a polynomial of degree n > 1 and a is any real number, then
(@) x —ais a factor of p(x), if p(a) =0

(b) p(a) =0, if x — a is a factor of p(x)

For Example: Check whether (x + 1) is factor of p(x) = x® + x> + x + 1.

(i) As per Factor Theorem, (x + 1) is factor of p(x) = x*+ x2+ x + 1, if p(-1) = 0.
(i) Therefore, p(-1) =(-1* + (-1)?+ (-1) +1=-1+1-1+1=0.

(iii) Thus, (x + 1) is factor of p(x) = x® + x2+ x + 1.

For Example: Find value of k, if (x — 1) is factor of p(x) = kx?— 3x + k.
(i) As per Factor theorem, here, p(1) = 0.

(ii) So, k(1)>—3(1) +k=0.

(ii)k-3+k=0

(iv)2k—3=0

(v) k=3/2.



For Example: Factorise 2y? + y2—2y — 1.

(1) On using trial and error method, we get,

@i p@)=2(1p+@1y-21)-1=2+1-2-1=0.
(iii) Thus, (y — 1) is factor of 2y + y? — 2y — 1.

2y +3y+1

y- I)EJ" +y' =2y-1

(iv) Now, using division method, we get, (V) Thus, p(y) = 2y3 + y?—
2y -1

=(y-1)(2y*+3y +1)

=(y-D @y +2y+y+1)

=(y-D@yy+)+1(y+1)

=y-Dy+DH@Ey+1)

(22) Algebraic Identities:

(i) (a+b)2 = (a2 + 2ab + b?)

(ii) (@a—b)2=(az- 2ab + b?)

(ii)a2—b2=(a+b) (@a—b)

(iv) (x+a) (x+b)=x2+(a+b)x +ab

(V) (@a+b+c)2=a2+Db>+c?+ 2ab + 2bc + 2ca
(vi)(@a+b)=a*+b*+3ab(a+h)

(vii) (@a—b)*=2a%-b*-3ab (a-b) =a— 3a*h + 3ab?- b3

(viii)a*+ b3+ c®-3abc=(a+b+c) (a2+b>+c?-ab - bc - ca)

For Example: Use suitable identity to find (x + 2) (x — 3).
(i) We know the identity, (x +a) (x + b) = x2+ (a + b)x + ab
(if) Using the identity, (x +2) (x —3) =x2+ (2 —-3)x + (2)(-3) = x> — x — 6.

For Example: Evaluate (102 x 107) without multiplying directly.

We know the identity, (X + a) (x + b) =x?+ (a+ b)x + ab

(i) Here, we can write, 102 as (100 + 2) and 107 as (100 + 7). So, x =100,a=2and b =7.
(i) Using the identity, (102 x 107) = 1002 + (2 + 7)100 + (2)(7) = 10000 + 900 + 14 = 10914



For Example: Factorise (a + b + c¢)? = 4a? + 16b? + 64c? + 16ab + 64bc + 32ca.
(i) We know the identity, (a+ b +c)2=a? + b? + c? + 2ab + 2bc + 2ca
(if) Now, 4a2 + 16b? + 64c? + 16ab + 64bc + 32ca

= (2a)? + (4b)? + (8c)? + 2(2a)(4b) + 2(4b)(8c) + 2(8c)(2a).

= (2a + 4b + 8c)?

= (2a+4b + 8c) (2a + 4b + 8¢)

For Example: Write (x — 2/3y)?in expanded form.
(i) We know the identity, (a—b)3=a*-b*-3ab (a - b)
(i) (x — 2/3y)*= x3 — (2/3y)? — 3(x)(2/3y) (x — 2/3y)

= X3 — 8/27y? — 2xy (x — 2/3y)

= X3 — 8/27y? — 2x?y + 4/3 Xxy?

For example: Factorise 8a3 + 27b%+ 64c® - 72abc.
(i) We know the identity, a® + b*+ c®- 3abc = (a+ b +c) (a2 + b>+ c2- ab - bc - ca)
(i) So, 8a® + 27b%+ 64c? - 72ab

= (2a)® + (3b)*+ (4c)® — 3(2a)(3b)(4c)

= (2a +3b + 4c) ((2a)% + (3b)? + (4c)? — (2a)(3b) —(3b)(4c) -(4c)(2a))

= (2a + 3b + 4c) (4a® + 9b? + 16¢? - 6ab - 12bc - 8ca)

VIDEO LINK: https://youtu.be/P5iRI'Y2uPRO



EAST POINT SCHOOL
CLASS IX SUBJECT PHYSICS

CHAPTER - FORCE AND LAWS OF MOTION
LINK-https://youtu.be/2yLQ9G3LulY

What do you mean by law of conservation of momentum?

Why do roads on mountains have inward inclination at sharp turns?
Why is it dangerous to jump out of a moving bus?

How do safety belts of cars help in preventing accidents?

Explain how momentum gets conserved in collision of two bodies?
How are Newton'’s three laws of motion related?

Explain inertia and momentum in detail.

Define force and its various types. What is its unit?

Give three examples exhibiting inertia in our daily life

10 What change will a force bring in a body?

11. From arifle of mass 5kg, a bullet of mass 50gram is fired with an initial velocity of 50m/s.
Calculate the initial recoil velocity of the rifle.

12. Explain how Newton’s second law of motion is used in sports?

13. Why does one get hurt on jumping from a great height to the floor?
14. What is a balanced force?

CoNoGOA~LNE



Study material Electoral Politics

Class IX

What is an Election?

A mechanism by which people choose their representatives at regular intervals and change
the representatives if they wish to do so. This mechanism is called election.

Why do we need elections?

Elections take place regularly in all democracies. A rule of the people is not possible in any
large country and it is not possible for everyone tohave the time and knowledge to take
decisions on all matters. Therefore in most democracies people rule through their
representatives.

Therefore, elections are consideredessential in our times for any
representativedemocracy.In an election the voters makemany choices:

They can choose representatives who will makelaws for them.
They can choose leaders who will form thegovernment and take major decisions.

They can choose the party whosepolicies will guide the governmentand law making.

What makes an election democratic?(a simple list of the minimumconditions of a democratic

election)

1.

First, everyone should be able to choose. This means that everyone should have one vote
and every vote should have equal value.

Second, there should be something to choose from. Partiesand candidates should be free to
contest elections and should offer some real choice to the voters.

Third, the choice should be offered at regular intervals. Elections mustbe held regularly after
every few years.

Fourth, the candidate preferred by the people should get elected.

Fifth, elections should be conducted in a free and fair manner where people can chooseas
they really wish.



Is it good to have politicalcompetition?(Merits and Demerits of electoral or political competition)

Demerits:
1. Itcreates a sense of disunity and‘factionalism’ in every locality.
2. Different political parties andleaders often level allegations againstone another.
3. Parties and candidatesoften use dirty tricks to win elections.

4. Some good people whomay wish to serve the country do notenter this competition. They do
not like theidea of being dragged into unhealthycompetition.

Merits

1. Our Constitution makers wereaware of these problems. Yet theyopted for free competition
inelections as the way to select ourfuture leaders. They did so becausethis system works
better in the longrun.

2. Inaway it tries to improve the knowledge and characterof political leaders. The other
andmore realistic way is to set up asystem where political leaders arerewarded for serving
the people andpunished for not doing so.

3. Soif a political party is motivatedonly by desire to be in power, eventhen it will be forced to
serve the people.

4. Political competition maycause divisions and some ugliness,but it finally helps to force
politicalparties and leaders to serve thepeople.

How elections areheld in India

General Election.

Elections are held in allconstituencies at the same time,either on the same day or within afew days.
This is called a generalelection.

By-election

Sometimes election is held only for one constituency or two to fill thevacancy caused by death
orresignation of a member. This iscalled a by-election.

Electoral constituencies

Thecountry is divided into differentareas based on population for the purpose of elections.These
areas are called electoral constituencies. For LokSabha elections, the country

is divided into 543 constituencies.

Reserved Constituencies and need for Reserved Constituencies

Some constituenciesare reserved for people who belongto the Scheduled Castes and



Scheduled Tribes.In a reserved constituency only someonewho belongs to the Scheduled

Castes or Scheduled Tribes can stand for election.

Our Constitution entitles every citizento elect its representative and to beelected as a
representative. TheConstitutionmakersworried that in an open electoralcompetition, weaker
sectionsmay not stand a good chance to getelected.

Voters’ list

The listof those who are eligible to vote isprepared much before the electionand given to everyone.
This list isofficially called Electoral Roll andis commonly known as the Voters’List.

In our country, all the citizens aged18 years and above can vote in anelection. Every citizen has the
rightto vote, regardless of his or her caste, religion or gender.

Some criminalsand persons with unsound mind canbe denied the right to vote, but onlyin rare
situations.

In the last few years a new systemof Election Photo Identity Card[EPIC] has been introduced.
Thegovernment has tried to give thiscard to every person on the voters list

https://youtu.be/3adakfp_5rw



SANSKRIT ASSIGNMENT

VIDEO LINK : https://youtu.be/UvnzmGjlYwO



https://youtu.be/UvnzmGjIYw0

